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QUESTION 1

Assuming an application is using KEEPDYAMIC(YES), does not re-prepare SQL statements after a commit, and the
system is not constrained by virtual storage, which of the following statements is correct? 

A. A global dynamic statement cache hit ratio of 0% and a local cache hit ratio of 100% provides the best performance
for such an application. 

B. A global dynamic statement cache hit ratio of 100% and a local cache hit ratio of 0% is an indicator that the
application is performing well. 

C. Set the CACHEDYN DSNZPARM to a value so that DB2 never needs to discard a statement from the local cache.
This will have a positive effect on the performance of this application. 

D. Set MAXKEEPD=0 for autonomic management of the local cache usage. This allows DB2 to automatically adjust for
optimal distribution between local and global dynamic statement cache usage. 

Correct Answer: A 

 

QUESTION 2

To minimize disruption from a coupling facility failure in a data sharing environment, which of the following is best to
implement? 

A. GBPduplexing 

B. GBPsimplexing 

C. Separation of GBP and LOCK structures 

D. Separation of LOCK and SCA structures 

Correct Answer: A 

 

QUESTION 3

Which statement related to monitoring DB2 virtual storage usage is correct? 

A. Monitoring DB2 virtual storage usage may be done using DB2 statistics traceclass(1). 

B. The only way to monitor DB2 virtual storage usage is by taking a dump of the DB2 address spaces. 

C. Monitoring DB2 virtual storage requires the use of an MVS monitor, like RMF. Only RMF has detailed information
about the virtual storage usage. 

D. Monitoring DB2 virtual storage usage requires the use of a rather expensive DB2 performance trace and it is
therefore recommended to only turn it on for a short period of time. 

Correct Answer: A 
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QUESTION 4

An application has been running in production for a long time. The size of the objects involved has not changed, but the
application is running much slower than in the beginning. When should the DBA consider manually REBINDing the
application? 

A. AfterREORGing the objects with inline statistics. 

B. When dynamic SQL is used, but only after REORG and RUNSTATS has been performed. 

C. Actually it is NOT recommended to perform manual rebinds but rather have DB2 perform automatic rebinds. 

D. If the size of the objects has not changed after gathering RUNSTATS data, the access path is very unlikely to
change, and therefore no REBIND is needed. 

Correct Answer: A 

 

QUESTION 5

A data sharing environment contains two members, M1 and M2 on separate LPARs, L1 and L2 respectively with two
coupling facilities C1 and C2. C1 contains the Lock and SCA structures and 

C2 contains the GBP structures. The LOCK and SCA structures are NOT duplexed. Assume all of the structures can
reside on either C1 or C2 based on the CRFM policy PREFLIST. Member M1 loses connectivity to C1. 

What immediate action is necessary in order to minimize loss of data availability to the application? 

A. Restart member M1 on L2. 

B. Start all database objects in GRECP status. 

C. Change the CFRM policy to duplex the Lock and SCA structure. 

D. No action is needed. The Lock and SCA structures are automatically rebuilt in C2. 

Correct Answer: D 
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